2.3-2.4 Word Problems Worksheet (work).notebook September 28, 2023

1.

The[sum pf two consecutive integers is 17.

. . Let x= |st cons. int.
Find the integers. w4} = 2n4

< + (x+ D+ 17
2X +| l‘{7—

_‘ —_

2x  F 16
2 2
X =8

The sum of three consecutive odd integers

is -453. Find the integers.
Let X= lst cons. odd int.
X+2=2nd
X+ 4= 3%rd
x + (x+2) + (x+4)=-453
2% + 6=-4Y63

—6 —b
23X =-459
3 3

X=-15%
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3. Thefumlof four consecutive even integers

Is 132. Find the integers.

Let X= )st cons. even int!

x+ 2= 2nd
x+ 4= 3vd
X+ 6= Uth
K+ (x42) + (x+u) 4 (x+6)= 132
yx +J2 = 12
-2 -2
Y =10
Y g-
X <%0

4. One season, Reggie Walker scored 9 more

mylt-by 2
than twice the number of runs he batted in.

He scored 117 runs that season. How many

. . et X=%0f runs batted in
runs did he bat in?

2x+ 9 =11+
2 X. =109
"2 2
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